Borlange BK
LBC4 Poangliga m hcp 2021-12-06

Partavling, 8 bord, 16 par. Antal brickor: 24. Medel: 168.0.

Plac Par Poang % Namn MID Klubb
1 16 206.2 61.37 Kjell Lang - Lennart Spannar 3816 83822 Borlange BK
2 9 184.7 54.98 Sonny Arvidsson - Kent Olsson 1349 81354 Borlange BK
3 8 182.5 54.33 Bo Siminski - Bernhard Nass 34578 34573 Borlange BK
4 7 1825 54.31 Lisbet Mattsson - Annelie Strém 57723 60347 Borlange BK
5 14 179.0 53.28 Gen Gustafsson - Anita Thunell Akvist 38581 84134 Borlange BK
6 12 176.7 5259 Tony Laszlo - Sven Nilsson 60350 58997 Borlange BK
7 1 175.2 52.15 Per-Ake Good - Monica Eriksson 13641 81404 Borlange BK
8 3 173.5 51.64 Ulf Fahlén - Kjell Westin 57128 31419 Borlange BK
9 10 1729 51.47 Monika Savberg - Marianne Lofquist 55135 58570 Borlange BK
10 11 169.2 50.36 Kjell Lundqgvist - Christina Eriksson-Lindgren 38578 57127 Borlange BK
11 5 164.4 4893 Ake Nordléf - Torgny Gustafsson 35956 38580 Borlange BK
12 4 161.2 47.98 Gunnel Lang - Inga-May Fritzing 3817 10363 Borlange BK
13 15 1499 4461 Jan-Olov Lundgvist - Johanna Granlund 84131 20440 Borlange BK
14 6 144.8 43.09 Hakan Gabrielsen - Lola Hallman 27871 60348 Borlange BK
15 2 135.1 40.20 Christina Nordlof - Irene Mattsson 35955 27873 Borlange BK
16 13 130.1 38.71 Tony Hakansson - Mats Hall 66711 148  LudvikaBygdens BK - Borlange BK
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